Non

GS W 255 | E 2

GS Series
Block Type
: Flange Type
Squre Type
Squre Type (low)

rTIsg

Size:
15, 20, 25, 30,35, 45, 55, 65
L.oad Type
S: Heavy Load
R: Super Heavy Load

Block Mounting
I: Mounting From Top
H: Bottom
S: Top or Bottom
E: Special Block
None: Standart block

—interchangeable type

R 1600 E ZA P |l DD/E2

+
E2: Slif-Lubricant
SE: Metallic End Cap

Dust Protection”
No.of rail peraxis set’

Precision Code

C, H, P,SP, UP
Preload Code: Z0, ZA, ZB
E Special Rail

None : Standart Rall

Rail Length (mm)

Rail Mounting Type
R: Mounting From Top
T': Bottom

No.of Block per Rail

GS W 3 S | E ZA +
GS SI i
1l
Bioek 1.e S_S E2: Slif-Lubricant
W: Flange 1¥Sne SE: Metallic End Cap
H: T
L :;t.'r: 1 :gee(low) Dust Protection”
Size: Precision Code: C, H, P
15, 20, 25, 30,35, 45, 55, 65
Preload Code: Z0, ZA
Load Type
S: Heavy Load E: Special Block
R: Super Heavy Load] None: Standart block
Block Mounting
I: Mounting From Top
H: Bottom
S: Top or Bottom
GS R 25 R 1200 E P
I
GS Series Precision Code: C, H, P
Interchangeable Rail E: Special Block

Size:

15, 20, 25, 80,35, 45, 55, 65

None: Standart block
Rail Length (mm)
Block Mounting

A: Mounting From Top
B: Bottom



GSH-SI/GSH-RI "
c Q S }
§ ) [
e L
| | S
Cc
4-Mxl w 1 I
SN o K it £
| ‘ :
Ixxr ol 1 -
| ‘ ——
o 4 4 )] : i ,T
| Od
‘ LE]
E P
Me My
o (7
— I — 3
———1te]
4
Dimensions Di . f block Di ; frial | i Static Rated | Weight
ModelNo.” (mmy B M) o Breme S | Moment 2
|rail Rating |Rating| M, | M. | M, - 2
H[H, N W [B[ B/ C| L,[ L | K G |MXL] T[H, | H, W H[D[h[d[P[ E | (mm) |ckN]C,0N|kx-m|inom k- kg Ko
GSH15S! (284395 | 34126| 4 | 26304 |61.4| 10 | 53| Mx5 | 6 |7.957.7/15] 15 |7.5]5:34560[20] | Max16] 1138 | 25.31 | 0.17| 015 | 0.15(0.18) 145 | ¥
: ' J
GSH20Slgy/ 5 13 |44 |gp| § (381205 TTSUB 1) | sy | g | | 7 (o0 175(05(85] 6 60| 20| |gwts oL O/24 038 027|027 0301y | ¥ |
GSH20RI 50 652922 126 ; 21.18 4884 048 [ 047 047]03| [V
' ! J
astzsSt| | 1ol g las 65850 88 1168 [y [ Liova gl o2 11| o 70 20| ez | 2485619 084 [ 051 051 05| | ¢]
GSH25RI 50 786 [104.6] 196 ; 3.5 | 76.00 | 087| 048] 08 09 | v
GSHa0S! 0] 70 | 974|202 . ; 3874|8306 | 1,06 0.85] 0.85 08| .| ¥
‘ 12 [MEx10 85 95 138,28 26 14|12 9|80 20 447 1
osraori| " 8| 1|9 06 g randlai s | i o e e B el A T T A A
GSHa5SI 50| 80 |1124] 206 , : 4952 |10287| 1.73[ 1.20] 120 145 ., | v
10 2t WBx12 10, 6134 28 | 180(20] W25 oo DD ey
asasri| | | 0| ™% 10 (72 iosalimma| 25| 12| 1112 |102] 18 |196)34) 28 | 14| 12] 9180 20) W25 oo Tvag i 20 | 20m 208 1ee " | v
GSH4ss!|_| | |, l60] 97 [1394] 28 ] e [t ] 7757 |155.98] 301 | 235 | 235|273 [ ¥
{ T 10x1 130.5! i I i 41—
ashasr |70/ 78/205(86 601 13 [ o o 128/HHDXT 46 (185(305145) 38 |20/ 17 14!10%22.5 IS e e oot 00014071407 a1 11
GSHSSSI RS P - Ll 1481 566|406 416 a7] | ©
cstssri| 013 298/ 100 751125/ g 1cclony g5 129|113 221 28 153 44 20|20 161200 MH4xS g5 gt 40 701 701 59| 2% 0
GSHems! , oA 81} ‘ ; | |16363324.71(10.02 6.44 | 6.44 700 | ©
cariosr || 81512676 25 [y ciocag a7 12WX 25 |16 1569 3 26) 22 815036) 1S ng3g g1 a5 1,12 1.2 00 2 o

Note: 1 kgf =9.81 N




GSW-SI/GSW-RI —

|

|

|Dimensions Dimensions of block Dimensions of rial  |Mounting Basic |g: at:rt'i!gmatod Walght
woserNo, " (mm) (mm) mm) " o g ‘ 2

B — | |Raing |Rating| M| M, M, ik

WM N W B[ B/C[ L[ L K a[m[T] T/HJH, W H[D[hld[P[ E | (am) | G{kN)|c,0kN)|n-m|xn-m kh-m kg Ko
GSW15SI|24/43| 16 | 4738 45/30[4.8 14.% | 8] 53(M5|6 | 8909537 15(1575/5345 6020 | |Méx16]11.38 | 25.31|0.17 [ 0.5 0.15 0.7 145 | / |
CSW20S|5  6lo15 63 53 5 |40 P8 BT 2N |5 yg| 6| 106 |7 20175 9585 6|60(20] | Msxtg |15 | 3784|038 | 027 | 027 1040] 5 oy | V|
GSW20RI| | 1% 2.3 [6n 21.18 [ 48.84 | 048 [ 047 047 [052| |V
Gswzssl|, | 0 e o % R B [P | [ ] 26.48 | 56.19 | 0.64 | 051 | 051 059 , . | v

355235/ 7057 65 45 B8 Lo wgl e | 146 9 2822 11/ 9/7 |60 ol A WAL L A
GSW25RI g 60 12 | | A1 X oy 5 | 7600 | 087 088 088 00| - | v
Gswaosl| | IEETHN v 38.74 | 83.06 | 1.06 | 085 0.85 [1.09], . | v

426819072 8 52 12 |M10[8.5| 16 16.510.8.28(26 | 14|12 9 (80 20 P g7 1]
GSW30RI | AN EIEEN | | | M g 1019 140 [ 147 147 rag) MY
GSW3sSl| | ®4.21 16.41 : 49.52 [102.87) 1.73 | 1.20 | 1.20 156 J

48)75 | £ 12 Wiofiod 18 9 12. 14[12 9|80 e [ ]
cswasri|"®|75| % 10182 9§ |82y i s | 12 MO0 189 12034120 | 14128180120 MBS [y o Tysg 1] 520 [ 208 208 206 4 | v
Gswassl| | LW [ | [ 77.57 |155.93] 3.01 [ 2.35 [ 235|279 v
mso_ssanmlwrl 0 O o |12 ks 2 18.520545(38 | 20|17 14 105}22.4 e e T T
GSwsss!| | | 1m 16 8.7 | 1144422781/ 5.66 | 406 | 406 452 [ o
owssRi|T0| 19495 HO116 12 95yqr g g {12975 265 12 19 63 46 23120 16120 30 M14xds iag g o7 4 701 701 58| % o
GSWESSI iile . 14 20 1.2 il : st |5 163.63|324.7110.02| 6.4 | 6.44 9.17 0
GswesRi 0| 1558517042 14 |11Q73g G (5.5 |128]W16) 26 (375,15 16 (6353 | 26122)18)150) 35| M1680)o0g 361457 15[ 14.18]11.12]11.1211289° 2| o

Note: 1 kgf=9.81 N



GSL-SI/GSL-RI
K
1 ki) i )
é] + &
4 $ Q +
G L
W Ks L.
B, 8 c
Bl ) | |
1 [ I 0D Cefil b W [el=l
; + q = P+
1 i H
od
E 2 . E |
Mg Me
- il X
i =L =
Dimensions Di ions of block Dimensions of rial  Mounting Static Rated | Weight
—— ola;s;n;hly |mens( rc;'nm) ocl (mm) Eg%ﬁl?;g‘il,?’,;;‘?““gzﬂg Moment 2
e Rating ' Rating] M, | M. M,: . ‘3
HIH,N (W [B][ B/C| L, L |K|G|[MXL| T[H, H, W H,D[h[d[P[E | () |CKNC,0kM|kn-m/kn-m kN-m kg keim
GsL15s1 |24/43]95 | 34 [26] 4 |6 304 |61.4| 10 53] Méxd | 6 [395/ a7 15| 15 [7.5/53(45]60[20 | [Méx16] 11,38 | 2531 | 017|015 | 0.45 0.4/ 145 | o
CSL25SI |ag < 5112.5] 48 |35/ 65 |51 58 L B |18 )45 | woug | g | 6 | o (23 22 11| 8 |7 [60] 20| upxzp [ 2648, 56:19| 064|051 051042}, | O
GSL25RI 50 | 78.6 |104.6) 19.6 3275 76.00 | 0.87 | 0.88 | 0.88 |0.57 o
GsL3os! || 40/ 70 [7.4 (2025 el | 3874 83,06 1.06 | 0.85 ] 0.85 078 o
£ 6|16 |60(40] 10 - 12| Mex10| 85| 6.5 10.8/28| 26 14| 12| 9 |80| 20 | 44712
GSL30RI 60| 93 |1204/2175 ‘ Mo T oss| 140 147 147 03] | o
GSL35S! 50| 80 (1124 206 ‘ [ 4952 102.87| 1.78| 1.20 | 1.20 |1.14 o
4875/ 18 | 70 |50| 10 | | 12 | MBx12|10.2] 9 112634 29 14|12 9(80[20 | | 2 630 |
GSL35RI | | 72 1058|1382 225 i | MBX2S | oot 13631 209 | 208208182, |
GSL45S! |60| 97 |139.4] 23 ‘ [ 77.57 155.93| 3.01) 2.35 | 2.35 |2.08 o
5(20. = ! 9|M10x17| 16 | 8.5 20. [17 |14 /105225 | £ 04—
asLacry |10/95/205) 86 60 13 0 1288712 289 12.9/M10x17| 16| 8.5 (20545 38 |20 1 ‘4\05 xS e 2 400 407 407 275 04t
GSLSsSI |_| 75 [117.7]166.7[27.35 | o el [, ] | 114.441227.81 566 | 4.06 | 4.06 [3.25 o
osLasry |10] 13 2BB{100/T51125 o oo apa | 129 WRX1BI175) 12 1 19 153/ 44 123120 1sf1z(130 WX oo s 0126|748 701 701 427 15.03{7

Note: 1 kgf=9.81 N



GSR-T
Dimensions for GSR-T (Rail Mounting from Bottom)

]
PR il
T T {
il /f
i i
yi—u

Dimensions of Rail(mm)

Madalhe. | w, H, s h P E o
GSR15T 15 15 M5X0.8P 8 60 20 1.48
GSR20T 20 17.5 M6X1P 10 60 20 2.29
GSR25T 23 22 M6X1P 12 60 20 3.35
GSR30T 28 26 M8X1.25P 15 80 20 4.67
GSR35T 34 29 M8X1.25P 17 80 ‘ 20 6.51
GSR45T 45 38 M12X1.75P 24 105 22.5 10.87
GSR55T 53 44 M14X2P 24 120 30 15.67
GSR65T 63 53 M20X2.5P 30 150 35 21.73




